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PART—A
Child Development & Pedagogy

English Version

1. To address the needs of differently abled learners
in inclusive class, which one of the following step should
teachers adopt?

(A) Approach focussing on learners’ deficit

(B) Approach focussing only on the specific learning
disability

(C) Approach of neutrality to treat all the children in
similar manner

(D) Approach focussing on learners’ strength

2. Which of the following is NOT a relevant reason
for assessing learners before presenting a lesson?

(A) To assess the readiness of learners for a lesson

(B) To make the learners aware before presenting a
lesson _ ;

(C) To facilitate teachers to practice core teaching
skills

(D) To form different learning groups among
the learners while adopting collaborative
teaching-learning

3. The level of teaching in which the learner can

identify the problem, define it ana u y to solve it by using

critical and creative abilities, is
(A) memory level of teaching
(B) understanding level of teaching
(C) reflective level of teaching
(D) pre-active level of teaching

4. Which of the following is NOT an essential principle
of teaching at primary level?

(A) Principle of providing attention for individual
difference

(B) Principle of proceeding from simple to complex

(C) Principle of proceeding from general to specific

(D) Principle of providing enough information to the
learner

5. There are two tasks in education:

(I) Personality development (II) Habit formation

There are two stages of education:

(a) Primary (b) Secondary

The best combination of the task in education and
stage of education might be

(A) ,a); (1, a)

(C) 1, 2); (1 b)

(B) (1, b); (1L, b)
D) (L, b); (II, a)
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PART—A
Child Development & Pedagogy

English Version

6. A teacher tells the students “Try to do the task, you
will learn”. Here the teacher tries to
(A) motivate extrinsically
(B) motivate intrinsically
(C) encourage for achievement motivation
(D) demotivate

7. Falling down on a floor, a child started to hit the .

floor out of anger. What type of thinking is reflected here
according to the theory of Piaget?

(A) Reflective thinking

(B) Logical thinking

(C) Analytical thinking

(D) Animistic thinking

8. The first step of memory is
(A) Retention
(B) Recall
(C) Recognition
(D) Learning

9, According to Kohlberg, in which stage of moral
development does an individual work to please his/her
family members and neighbours?

(A) Punishment obedience stage
(B) Personal reward stage

(C) Good boy/Nice girl stage
(D) Law and order stage

10. Which of the following strategy is NOT
pedagogically appropriate for learning in the
Constructivist approach?
(A) Encouraging learners towards
perspectives of objective reality
(B) Group collaboration
(C) Drill and recall
(D) Exploration through experimentation

multiple

11. The cephalocaudal principle of child development
refers to the development which proceeds from
(A) head to toe
(B) general to specific
(C) centre of an organism to the periphery of its body
(D) concrete to abstract
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PART—A’
Child Development & Pedagogy

English Version

12. A social science teacher may make linkage
geographical concept while teaching history. This kind of
pedagogical strategy

(A) would promote misconception among the learners

(B) would negatively impact learning as it would
impose additional burden

(C) would facilitate learning by promoting
interdisciplinary approach

(D) would neither impact to promote nor o create a
hindrance in learning

13. According to Piaget’s view, the child learns that
‘water can be frozen and then thawed to become liquid
again’ is an example of

) (A) Seriation ability
(B) Classification ability
(C) Reversible thinking
(D) Hypothetico-deductive thinking

14. The memory responsible for remembering ‘how to
do things’, is called
(A) Procedural memory
(B) Semantic memory
(C) Episodic memory
(D) Autobiographical memory

15. A teacher asks a student to mention different non-
conventional uses of tea-cups. This teaching tends to
develop among the students

(A) Convergent thinking
(B) Creativity

(C) Language ability
(D) Concrete thinking

16. There are some concepts in Pedagogy:
(I) Objectives (II) Aims (III) Goals
There are some factors;
a. Student b. Teacher c¢. Nation
Find out the best matching pair from the following
pairs:
(A) (11, a) and (11, ¢)
(C) (I, a) and (II, b)

(B) (I1,a)and (I, c)
(D) (1, ¢) and (II1, b)

17. Which one of the following principles is NOT
relevant to Child Development?
(A) Sequentiality (B) Continuity
(C) Reversibility (D) Generality to specificity
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PART—A
Child Development & Pedagogy

English Version

18. A test is administered twice in a definite interval on
a group of school students under identical environmental
conditions. The mean scores of the students remain very
close. It is therefore, said, the test has

(A) validity

(B) reliability

(C) objectivity

(D) moderate difficulty value

19. According to Kohlberg, a teacher can inculcate
moral values in the classroom by
(A) giving importance to religious teaching
(B) asking students to read psychology books
(C) introducing clear and strict rules for behaviour
modification
(D) discussing moral issues

20. When old memories inhibit new learning, then this
phenomenon is called
(A) Proactive inhibition
(B) Retroactive inhibition
(C) Interactive inhibition
(D) Postactive inhibition

21. In which step of 5°E’ model, students conduct
activities, predict and form hypothesis?
(A) Engagement
(B) Elaboration
(C) Explanation
(D) Exploration

22, Child’s ‘inability to understand a situation from
another person’s point of view’ is called
(A) Object permanence  (B) Centration
(C) Egocentric thinking (D) Transductive thinking

23. In the classroom of a primary school, students
usually come from different social hackgrounds in terms
of culture, religion, economic status and caste system,
What should be the best combination of teacher’s task to
make the classroom inclusive from these given options?

(i) To reflect on his/her own stereotypes and beliefs
(ii) To include and emphasize diversity of children’s
experience

(iii) To create institutional ethos towards equality

(iv) To instruct children to accommodate the existing

standard curriculum
(A) (1), (i), (ii)
(©) (), (iii), (iv)

(B) (i), (i1), (iv)
(D) (i), (iii)
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PART=A"
Child Development & Pedagogy

English Version

24. Which one of the following statements is NOT true
about the concept of the term ‘Pedagogy’?

"(A) Pc _zogy is the ways and means of transaction of
curriculum

(B) Pedagogy is usually influenced by the dominant

culture
(C) Pedagogy is not related to the needs of the children
(D) Pedagogy is being exercised across the curriculum

25. While teacher explores learners’ indirect and
general experience in concept formation in
learning-teaching process, then which one of the followings
will be most acceptable?

(A) Exposure — Perception = Abstraction —
Generalization

(B) Exposure — Generalization — Abstraction —
Perception :

(C) Exposure — Abstraction — Generalization —
Perception

(D) Exposure — Abstraction — Perception —
Generalization

26. Learning-Teaching becomes more effective, when
(A) Teacher asks questions and students answer
(B) Teacher writes on the blackboard and students
make a copy
(C) Teacher encourages students to ask questions and
helps them to answer
(D) Teacher assigns a lot of homework

27. If a child has a mental age of 5 years and

chronological age of 4 years, then IQ of the child will be
(A) 100 (B) 75 .
(C) 80 (D) 125

28. The personality variable through which people
generally feel about themselves is
(A) Self-confidence (B) Self-dependence
(C) Self-esteem (D) Introvertedness

29. According to Gardner’s theory of Multiple
Intelligence, ‘the capacity to detect and respond

appropriately to the moods, motivations and desires of
others’ refers to

(A) linguistic intelligence

(B) logical-mathematical intelligence
(C) interpersonal intelligence

(D) intrapersonal intelligence

30. Which one of the followings is the correct sequence
of steps for insightful learning?
(A) preparation, incubation, insight, verification
(B) preparation, incubation, verification, insight
(C) preparation, insight, incubation, verification
(D) preparation, verification, incubation, insight
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SRR (2T, 7 TR i A @ a2 femiem F wrem o foet s e
SR (78T GIam oo #Heic M, (A) Fore e
TOTH O TSR G S 2o | % :‘F@Ww
TG G (IS BT AT ATe, (D) B
e Kl o1 fof: g | :
i 2f TS A e, ) 4. ot o fom 3R G T ey’ — P o K
GRAIATS 38 I Tl i | ST 7 2
. (A) Praress Ama S
AEFARA SR TANGI2, FAFHIAR Tlel, " (B) SREAIHT SwE O_GT
A Fieer-oea <MY coowra e | ARG I S
TS 4T TS, ©F 23 0 @ H— : (D)ﬁli“’m TR SR
T O T o 4. enlfire Bt ooa getar frmt crenta tae e
ot (&ts! AETEHE AT SIS, _(pSigeral R #I0% FR0E (4o
A CSTAE FCA @) TIR-TACS | (B) Siederas SRR 24 (eT &
A #AT A A FEAEm (C) g Frmmie = 4= #s
QT (TR T T e T | (D) wfeerEa @RS SR B
TS TEACS AR Tof7 B B e, /4T, AR Rt S STRTR g (D SeEE e
; (A) Fifee «iet Frmditr oo s w1
TR 30 A
mwg,mwxml (B) &G A TR T i .
S e A o R e, (C) g Rem +ATIEIA WA TR W AT WITTA
T 2T (511 4R Bletietive v | Gy :
AR G et e oo e | yeTelors Rreidive TE Ares w4
e ' ﬁ. ot 7 e Fre P it @iz, 20os Rt

@HW?
) T @ M Jwfe P F90e TR

(B) sfefae ifo-aa T19gl 9190e =1
(C) =% 4TS 1 Biage =7 TG ANS TR
(D) SgeraR Mg Fwm w3 wwy We 21

) 40, W T oo A Bt wor'— Farad oWt &

GO AW ? Mﬁmq

(A) T e
(C) wraers fareae (D) ofEere faedad
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PART—B
Language~I—Bengali

49, wRetiicsn ot Pree/Rife @Re e wawdi \/

T wre ottt T fRwfafe fotief oram— elaw wer e
TS &R d@F OeiE, fRdhn wiem Fiw Ffer @ s
e FE, TO wel IR oelrF wrotws siew ferva et wta |
g AfeFmer Sy e
(A) P Rives w3 crsat
(B) ez T wfexifEe w41
(©) AIHIT T TS T4
Qv Wy A [fSs =99 ¢ gvens oy
e

/50, < ettt e/ et e < it Ronidl st
FEiE (Reading disorder) M o34 wite fsfefie @
TP TS I NI FE?

(A) Syl (B) fesriergsi
ey Torefim (D) e

/. 51. Tr=ia cta staiw <ol (Centrality of Language)
o Ft? . ’

( aémmwm(subject)mmﬁ@ﬁw
S Sl I '

®) \;Eﬁ e S0 9T (Subject) R e Qe

2

(C) = 551 (Content Studies) ©HIfRrFT @

(D) It ReR Rag 71 giwell Seied o) SR
e ©Fg (TETIY Aiad (7

52, Frsfie et waer amed st e
(A) Boets (B) figa
TS (D) eif®

/53, aaf R eferaien e ww froms/ R
FirmidiTen atem AZAGRE AFTESl AET (Assessment)
FACS Oigre G TE—

VeSS FIATE
(C) TZAMCETR TE

(B) fzsrs wms
(D) SIS T

\A‘t. A2 Atsn Fefafie Sopnefm sty @@ Srenf
FAE A Ifeye 2
(A) *Te161 I :
(B) A TobraTera Srep fsfiet
(C) Predizs facers et witer e Al
. (y)/ Ay (Text)-93 o 4IFNHE TG F72ita R
e A w4

55. st SEDaT emPreeia aaem e/ M
3fezm at sote o T it — arRea ol @
el (el SeTE SACEA ? _
(A) ST
T

(B) STl
(D) STt

yse;. sfafie @M Cwa HevTrerE elraid AR Ay
’ @G Siifeq A camen
(B) @il frmreea/ Ml ofaimeta fm caraeit
(C) %7 01 G SIE 2 A0l '

(D) Hifom Sl FR! =115

THe

/. 57. farsa @l “wrefs Aol @9 (Emergent Literacy
' Stage)-q =% S A A2
(A) 297 =S witaz
(B) str=efat <t q=Ta el
fen f&faem 7 @i
(D) % T Fl

‘~AS- farme-fires B o/ (Teaching-Learning Material)
T[RRI a @ oelae |
(A) FEEeTe)
(B) e
(C) P tofd
W Iz A9 (Contextualised) G2 JATISIT
ot o

h\\A& e P CFTE—
o firms/MfFa T, 2w ©E ¢ Tw

o Rrmdicna efefea warmey, g Féa
Sofive wegel @F Renr fresmiers Fot s e
q e
(B) AR %S
(C) Rread safs
© (D) SRER A&e

\/60. e FI I @A T/ Mfrn Fwdn ot @
FETNETSI AH (TS Bi Srere fOf (i $aTTa evs ARy
49 ?

(A) 1ey/Fienane o

(B) 93 Itara Teafoies o

(©) w3 (MCQ) 2
TE2eE opsl
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PART—C*
Language-II—English

Read the following passage carefully and answer
Question Nos. 61-68.

The victory of the small Greek democracy of Athens over
the mighty Persian empire in 490 BCis one of the most famous
events in history. Darius, King of the Persian Etnpire, was
furious because Atliens had interceded for the other Greek city
states in revolt against the Persian domination. In anger the

King sent an enormous army to defeat Atherts. He thought it -

would take.drasfic steps to pacify the rebellious part of the
empire. Persia was ruled by one man. In Athens, however, all
citizens helped to rule. Ennobled by thi§ participation,
Athenians were prepared to die for their city state. Perhaps
this was the secret of the remarkable victory at Marathon, which
freed them from Persian rule. On their way to Marathon, the
Persians tried to fool some Greek city states by claiming to
have come in peace. The frightened citizens of Delos refused
to believe this. Not wanting to abet the conquest of Greece,
they fled from their city and did not return until the Persians
had left. )

» 61. Darius took drastic steps to the
rebellious part of the empire. '

(A) weaken (B) conquer

(C) destroy (D) calm

v, 62. The people of Delos did not want to the

conquest of Greece.

(A) end (B) think about

(C) support (D) day dream about

¥ 63. Statement (i) — Persia was autocratic
Statement (ii) — Athens was democratic
Choose the right option:
(A) Statement (i) is false, and Statement (ii) is true
(B) Statements (i) and (ii) both are true -
(C) Statement (i) is true and Statement (ii) is false
(D) Both Statements (i) and (ii) are false

\ / 64. The people of Delos ran away because they were
(A) bold (B) wise
(C) impatient (D) annoyed
n/ 65. ‘Persiawas ruled by one man.’ The underlined word
in the sentence is an example of
(A) Noun (B) Adjective
(C) Pronoun (D) Adverb

X 66. Athens had the other Greek city states

against the Persians.

(A) refused to help (B) wanted to fight
(C) intervened on behalf of (D) given orders to fight

\_"67. The word ‘abet’ as used in the passage means—
(A) fight (B) follow
(C) assist (D) share

© 68. Which of the following options come closest to the
meaning of the word ‘Ennobled’ as used in the passage is—
(A) worried (B) frightened
(C) panicked (D) encouraged

Read the following passage carefully and answer
Question Nos. 69-75.

It was a cold, wet and windy March evening when Prem
came back from the village with his wife and first-born child,
then just four months old. In those days, they had to walk to
the house from the bus stand; it was a half-hour walk in the
cold rain, and the baby was all wrapped up when they entered
the front room. Finally, I got a glimpse of him. And he of me,
and it was a friendship at first sight. Little Rakesh (as he was
to be called) grabbed me by my nose and held on. He did not
have much of a nose to grab, but he had a dimpled chin and I
played with it until he smiled.

The little chap spent a good deal of his time with me during
those first two years in Maplewood—Ilearning to crawl, to
toddle, and then to walk unsteadily about the little sitting room.
I'would carry himinto the garden, and later, up the steep gravel
path to the main road. Rakesh enjoyed these little excursions,
and so did I, because in pointing out trees, flowers, birds,
butterflies, beetles, grasshoppers, et al, I was giving myself a
chance to observe them better instead of just taking them for
granted.

In particular, there was a pair of squirrels that lived in the
big oak tree outside the cottage. Squirrels are rare in Mussoorie
though common down the valley. This couple must have come
up for the summer. They became quite friendly, and although
they never got around to taking food from our hands, they
were soon entering the house quite freely. The sitting room
window opened directly onto the oak tree whose various
denizens—ranging from tag-beetles to small birds and even
an acrobatic bat—took to darting in and out of the cottage at
various times of the day and night.

-‘/ 69. ‘Finally, I got a glimpse of him.” This is an example

of an _
(A) assertive sentence (B) interrogative sentence
(C) imperative sentence (D) exclamatory sentence

\/IO. ‘Et al’ means :

(A) also ; (B) either
©) bpt (D) and others .

»/"71. In his excursion little Rakesh was accompanied by

(A) the narrator (B) Prem

(C) his brother (D) his friends
1 72. Little Rakesh was when he saw the
narrator for the first time in his life.

(A) two years old (B) four months old

(C) four years old (D) a baby of one year

./ 73. The synonym of ‘denizen’ is

(A) army (B) students
(C) occupants (D) animals

[25]



- PART—C
Language-1I—English

N

74. “I would carry him into the garden, and later, up
the steep gravel path to the main road.” This sentence is
an example of

(A) Simple past tense

(B) Past perfect tense

(C) Past continuous tense

(D) Past perfect continuous tense

% 75. The animal which is rare in the place mentioned in

" the passage is
(A) tiger
(C) squirrel

(B) bat
(D) tag-beetle

~ 76, According to NCF (National Curriculum
* Framework) 2005, multilingualism in a language
classroom should be seen as
(A) achallenge to second language teaching.
(B) a hindrance to second language acquisition.
(C) a shortcoming in second language teaching.
(D) aresource in teaching second language.

Y. 77. For teaching a grammar item a teacher begins with
examples, and then with the help of examples, she/he
clarifies the rules. After that she/he asks the students to
provide more examples and provide clarifications. The
teacher here is thus using the

(A) Deductive method

(B) Inductive method

(C) Inductive-Deductive method
(D) Direct method

78. Which of the following TLM is most essential for
an English teacher to carry to the classroom?
(A) Dictionary
(B) Chart
(C) Textbook
(1{)) Model

79. Which of the following is not a principle for second
language teaching?
(A) Prompt feedback
(B) Continuous assessment
(C) Memorisation of the rules of grammar
(D) Use of different contexts

St
<5

v 80. Which of the following is the principle of teaching
* grammar in a second language classroom?

(A) Learners should be taught only the aspects relevant
for communication.
Learners should be taught every grammatical aspect
thoroughly. '
Learners should be taught the art of scaffolding.
Learners should be taught only translation.

(B)

©

(D)
\/81. Which of the following is not true for second

language learning and acquisition in direct method?
{A) Socio-cultural differences constitute the principle
factor in both.

(B) We do not use translation method for both.

(C) We use mother tongue for both.

(D) Socio-linguistic factor is essential for both.

82. Sitting arrangement in a diverse second language
classroom should be
(A) fixed
- (C) fixed but planned

(B) flexible but planned
(D) flexible but unplanned

., 83. Immediate correction of errors is encouraged in
"~ (A) communicative approach

(B) translation method

(C) community based language learning

(D) project based method

% 84, The meaning of a word in a passage depends only on
(A) its dictionary explanation ¢
(B) its context
(C) its origin
(D) its spelling

' 85, Basic skills for language learning comprises of
(A) speaking, remembering, listening, spelling
(B) listening, speaking, reading, writing
(C) speaking, framing, writing, analysing
(D) speaking, thinking, reading, writing

> 86. Which one of the given alternatives is not true about
language acquisition?

(A) A child uses the language correctly without being -
conscious about the grammar rules. :

(B) Language development takes place in a natural setting.

(C) Affective factors like anxiety, self-confidence, etc.
are not involved in the process.

(D) Instruction from experts is required.

.. 87. The purpose of remedial teaching is to

" (A) introduce new language items
(B) test recently taught language items
(C) teach again the language items not properly learnt
(D) teach again the language items already learnt

) 88. Listening comprehension is a/an
(A) passive skill (B) active skill
(C) productive skill (D) reasoning skill

"/ 89. Which of the following activity is most appropriate
in developing language skills?
(A) Watching films
(B) Reading storybooks
(C) Participating in cultural functions
(D) Preparing school magazines

\/90. What should be emphasised in assessing second
language proficiency?
(A) Correct grammar
(B) Correct spelling
(C) Ability to use second language in different contexts
(D) Correct writing

[26]



PART—D'
Mathematics

English Version

Y91, Sum of all the factors of 100 is
‘(A) 216 (B) 117
(C) 223 (D) 217

w1 92. Which one of the following is not a characteristic of
" mathematics?

(A) Uncertainty in result (B) Correctness

(C) Originality (D) Truthfulness

./ 93. In order to teach the concept of ‘addition of
fractions’, which one of the following questions a teacher
should prefer first as an example?

(A) 35+ > =2 (B)

to|w ro|—
1}
~
~~
L=,
|
+

© %+

:‘,—/ 94. The digit, whose place value in a number, does not
depend on the place is
A 7
©) 0

®B) 9
D) 1

95, Let A = (666 x 123 + 1) x (66 x 456 + 2) + 1 and
=(33x578+2)%x(333x734+1) +1 then .
(A) only A is prime
(B) only B is prime
(C) both A and B are prime
(D) none is prime

~ 96. Which of the following conceptual statements should
come first at the time of teaching Mathematics?

(A) ‘Zero’ is to be taught with the first set of numbers.

(B) ‘Zero’ is to be taught after making learners
acquainted with digits from 1 to 9.

(C) ‘Zero’ is to be taught after making learners to
acquire the sense of natural numbers and binary
operation ‘subtraction’.

(D) ‘Zero’ is to be taught while teaching the place
values of digits in a number.

,\/l 97. “Mathematics is the mirror of civilization.”— Who
 said this?
(A) Heghen
(C) Whitehead

(B) Bacon
(D) Berthelot

98. The sixty second decimal place in the decimal

' representation of 22 will have the digit

(A) 7 (B) 4
© 2 (D) 5

Bengali Version

91. 100-97 7= Bestvrrelm wafd 2=
(A) 216 (B) 117
(C) 223 (D) 217

92. fefEfoukm s cmb fices tafie me

(A) wAPER ofeenel (B) figae
(C) cnferws (D) frrzet

93, ‘Gieeta cataEa’ YrAe® crAEE T Fres/ At
e emafm g @FH 7429w Sz B a@gm
FACIA?

(A) 3

+

wlL w|w

I
-3

=i? (D)

+

© *

= wn|s

W] “I"‘
| w m|-—-

94, TR Y ﬁmmwwﬁ}ﬂwm"mm@ﬂa
FSaie T @I ==

(A) 7 B) 9
© 0 D) 1
95. 41 TS, A = (666 x 123 + 1) x (66 x 456 + 2) + 1
= (33 x 578 + 2) x (333 x 734 + 1) + 1 =14,
(A) egIg A Gifers
(B) ®ywig B GNfEw
(C) A8 B TomR A
(D) @IIGE chfers w77

96. siftre frmterm T T wietisre Rfoulm Wy emiba
ety st §fow ?
(A) [ S99 TR GIHE ACK RIS LI
(B) 1 (AF 9 @2 wHaf SR AR -2 0K
AT e |
(C) Pt Tl g e Afea ¢ s afF
Rgrie’ TR TR, Xe-9 A AT AT |
(D) STEafE B W coeira s A -3 A0 sifahien

e |
97. “sifdre 27 TeToR weld | — it F9 B
(A) Heghen (B) Bacon

(C) Whitehead (D) Berthelot

98. %—@Wfﬁm ermte FATE 629 wifiE T o TR

(A) 7 (B) 4
© 2 (D) 5
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PART—D
Mathematics

English Version

1
p 9. ABERIZR (100 10000) =

(B) 1224:2412
(D) 2121-2121

(A) 4214:1222
(©) 1212-1212

\/Q 100. Which of the l‘o!lowmg does not represent the
lengths of the sides of a triangle?
(A) S5cm,6cm, 7cm
(C) 2cm,3cm, 7cm

(B) 2cm, 5Scm, 6 cm
(D) 3cm,4cm,5cm

% 101. - A
/ L] ..I ..... l...l..
1 { 1
1, 3 6, 10, ... are triangular
numbers. The tenth triangular number is
(A) 42 B) 50
{€) 55 (D) 100

ﬂ 102. Let p be a prime number. Given statements are
/ (i) p has exactly two distinct factors.
(i) p=1
(iii) p must be odd.
(ivy p-220
Which one of the following is the set of true
statements? ‘
(A) (i), (D), (iv)
(C) (iv), (iii)

(B) (), (i)
(D) (i), (@)

103. (0-1 - 0-01) x 0-11 x (0-01 + 0-0001) =
ﬁ (A) 0-00009999 (B) 0909099
(C) 0-10101111 (D) 0-00000099

%04. Ram can finish a piece of work in 6 days doing
10 hours of work in each day. Actually, after working
3 days (10 hours a day) he starts working 6 hours a day to
finish the rest portion of the job. Then the total time Ram
would require to finish the job is
(A) 10 days (B) 8days
(C) 12 days (D) 15 days

/“3 105. To evaluate the length of the path described by a
circular wheel by a complete rotation, we need to evaluate
(A) the area of the wheel '
(B) the circumference of the wheel
(C) the measure of the circumference of the wheel
(D) The length of any chord

Bengali Version

1
100 10000) =

(A) 4214-1222 (B) 1224-2412
(€) 1212-1212 (D) 21212121

99, 121212 x (—1— ¥

100. fra @R @it gres o fabe tnd awt w7e
A =e
(A) 5cm,6¢cm, 7 cm
(C) 2cm,3cm, 7 cm

(B) 2cm, 5cm, 6 cm
(D) 3cm,4 cm, S cm

101.
‘L ‘L L] l. L -\LI L[]
1, 3 6, 10, ... 7#1 fagw st | sigga
i free M 2=
(A) 42 (B) 50
(©) 55 (D) 100

102. =@t g%, p @l e | eve Rfoef ==
(1) p-a7 wyIa o 79 Seaiive Wity
(i) p=1
(iii) p o rgey A
@iv) p-220
Sevn @l e fafea = 2
(&) (), (i), (iv) (B) (i), (ii)
(©) (iv), (i) (D) (iii), (i)

103. (0-1-0-01) x 0-11 x (0-01 + 0-0001) =
(A) 0-00009999 (B) 0-909099
(C) 0-10101111 (D) 0-00000099

104. efSfim 10 9%t FiE Fata W % 3w 6 o o
TS <iita | fHea 1095 33 3 fam 5lw =19 oita 1 2ifs e

efSf 6 951 Fta Fiw T SrFre 7o)l T’ TS ¢ =W
[2is]

(A) 10f=
(©) 12f=

(B) 8 =
(D) 15f=

105. «=f JET bEE @I o 96w wfewrg oted ol
(A) o= CFame
(B) v Afafy
(C) bR «ifafdm o
D) @ (I T-ad ey
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Mathematics

English Version

/ﬂ 106. Which of the following statements is incorrect for a
/' circle?

(A) ‘The chords, equidistant from the centre, are of
equal lengths.’

(B) ‘The equal chords of a circle are equidistant from
the centre.’

(C) ‘The straight line segment joining the mid-points
of two parallel chords of a circle always pass
through the centre.’

(D) ‘The straight line joining the mid-points of two
parallel chords of a circle must pass through its
centre.” .

% 107. Ifateacher wants to share the concept of the formula
‘(a + b)* = a® + 2ab + b¥, which question among the
following should be raised to evaluate the previous
knowledge required for the content?

5 85
® (2)=Zam

(C) 67*=649 (T/F) (D) 5x5="5 (T/F)
/ [T means ‘True’/5%)’; F means ‘False’/f21’]
¥ 108. In order to motivate a learner to learn geometry,

which one of the following is not required?
(A) Problems arising from life
(B) Folding of papers

(C) Mathematical game
(D) Complex problems on geometry

(A) 13?2 =169 (T/F)

"109. Which of the following symbols is unique for
mathematical language?
(A) ? (B) @
_ (C) % (D) &
/110. NCF 2005, recommends that teaching of
mathematics at Primary Level should focus on
(A) Preparation for higher mathematics
(B) Helping students in correlating the classroom and
in learning with daily life
(C) Helping students to achieve international standar
of learning in mathematics -
(D) Abstract concepts of mathematics

% 111. Given statments are—
(i) two angles are complement of one another if their

sum is 90°.

(ii) Complement of an angle of measure 70° is an angle
of measure 20°.

(iii) Complement of an angle of measure 20° is an angle
of measure 70°.

(iv) Complement of an angle of measure 90° is an angle
of measure 0°.
In order to share the concept of complementary

angles, a teacher should prefer the order

(A) (1), (i), Gii), (iv) (B) (i), (i), (iv), (@)
(C) (iid), (iv), (i), (ii) (D) (iv), (1), (i), (iii)

[29]

Bengali Version

106. Jrea & Aow (o Fefe o wm e
(A) ‘@F (4% AT TAES A w@i-ad ey F
Euty
(B) THIRUGR AS= w1 JLEA (FF (A0S HEACY SAES I
(C) T sie=i= FrearE T-a% 19fR siaes @A

(D) G “Ae=ta sTraats wi-a7 R4 e Aaree SeEEd
7z qreT ema S @l

107. st assw frme/RAfEa (@ + )2 = a® + 2ab + b4
wrzel e < e o el wrmeia erarae FrmdiE
AT IHIR-GF T FAEA?

@ 13=10@H)  ® () =2 wn

(C) 672=649 (T/F) (D) Sx5=5° (T/F)
[T-7 9 “True’/51e)"; F-3 9i< ‘False’/fier’]

108. wifafs fRaca Ptdia e cermen wistics Fafee @Eba
STAEH (FR ?
(A) & (U TgS Tl
(B) lsitera ©iw
(C) sz vt
(D) =S wiswrre afbar 7em
109. fmfefeofm my @m B2l dkdrer st w3z
@EEG TSy ?
(A) ? (B) @
C) % (D) &
110. NCF 2005, o wrepiica enefis @ s frem @
T @ .
(A) SHIET Mty Soarash =@ el
(B) cifiersa fm e rzifas Gara A0 S @@ 2140
A 41
(C) Ptz siffe fem wrgsifes wim Thre w4t
(D) siftts RS «rze =ire =2
111. eve el =—
(i) %% e si7=7 o7 zw 3w Srewm w7l 90° =)
(ii) 70° AT FIAF 7= @Iee «AfFmet =5 20°)
(iii) 20° “AfFCAT FEA 97 @R 2AfTNA Z=| 70°)
(iv) 90° AR @I 45 @R «AfFmst 7= 0°)
T (IR IFOH (ROTR TCH I8 P/ Taifirst-a
Boram Fgfockm FefiRe @ w1 <& =4t She?
(A) (1), (i), (iiD), (v) (B) (ib), (iii), (@v), (i)
(©) (i), Gv), ), () (D) (v), (), Gi), (iii)
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PART—D
Mathematics

English Version

112. What is the difference between the place values of
two 7’s in 1715271?
(A) 699930 (B) 996930
N © o (D) 30699
v/~ 113. 35574 is divided by n to get a perfect square number.
The least value of n is
(A) 2 (B) 3
(C) 6 (D) 12
¥, 114. If the sum of all the proper divisors of a natural
number be equal to the number itself, then the number is
said to be perfect.
For example, proper factors of 6 are 1, 2 and 3. Here,
1+2+3=6... 6is perfect number.
Therefore, for 42 and 28, we can say
(A) Both are perfect (B) None is perfect
(C) 42 is perfect but (D) 28 is perfect but 42
28 is not is not
,}Q 115. The proper sequence of the names of the three angles
220°, 180°, 75° is
(A) acute angle, right angle, obtuse angle
(B) right angle, acute angle, straight angle
(C) reflex angle, obtuse angle, acute angle
(D) reflex angle, straight angle, acute angle
X 116. The digit in the unit’s place in the product of
first 100 prime numbers is ‘
A1 (B) 3
(O] (D) 0
v 117. Ram loses a 100 m race to Faruk by 10 m. Distance
* that can be covered by Faruk when Ram covers a distance

of 99 mis
(A) 10m (B) 91m
©) 11m (D) 12m

\/ 118, ‘Draw a geometrical figure.’— the level of the

question is
(A) Knowledge based  (B) Understanding based
(C) Application based (D) Skill based

" 119. Which one of the following is not an essential

characteristic of formative evaluation of mathematics?
(A) Judgement on content knowledge of mathematics
(B) Elemination of fear of mathematics
(C) Self-evaluation of learners
(D) Time consuming

A 120. Toshare the knowledge of corresponding angles we
7 need to consider
(A) a pair of parallel straight lines only
(B) a pair of parallel straight lines and a common
transversal ;
(C) a pair of coplanar straight lines (may not be
parallel) and a common transversal
(D) a pair of intersecting straight lines

Bengali Version

112. 1715271-€7 7 56 B M7 wrga =5
(A) 699930 (B) 996930
©) 0 (D) 30699

113, ojefqsl R “NeTH &G 35574~ n @Al ©ist T T
n-&F T TN 2=

(A) 2 (B) 3

(€) 6 (D) 12
114, =% i Fretfe AU 7= gaef Seohms 7afe muaif
frer =, v mifbes fds won =

@, 6-a9 Y BeATmel 1, 2 a® 31 @G,
1+243=6. 000 6 = o i

AR, 42 '8 28-a7 T IATS A7

(A) 762 g (B) o3 s 7w

() L2F{oe287 (D) 28 fade w42 7w -

115. 220°, 180°, 75° &G (1et foafow oy e e 7w
Lol :
©(A) TR, NI,

(B) e, I, FAETCI

(C) eFRCHH, T, TR

(D) R, FHEACPIC, TN
116. e 100f6 T U wowem g3 B o T
(A) 1 (B) 3
€ s (D) 0

117. momcﬁgaﬁmﬁmm,mmmm-@m
T | AT IYF 9°9 m T O Tl gl SOTE 779 WA

(A) 10m (B) 91m
©) 1Im (D) 12m
118. ‘a3f wififes oo o st 1'— enifta B =&
(A) @TET (B) QIFEF
(C) AT (D) wFOES
119. Fefafie @b tforen =1 sEomeE (formative
evaluation) weoiffg ey wm e
(A) siftres e @ieE Rem
(B) sfiwSifé Fiwad
(C) Trsidli 5-seaw
(D) SEaHICA

120. SRt CPITAR Y6 S0 SieRd Rroaie el
(A) Y GGG AT ARG Tl
(B) SFTEIG! AT AAGAIET T G2 G0 AL
(o
(C) a&ENG! TSR AL (T SHAAGAANS TS
AR) 9 9B AR e
(D) GITEIG AT~qCRH] HeTCaL
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X 121. Which of the following are horticultural resources?
/ (A) Paddy and Jute

(B) Mango and Litchi

(C) Tea and Coffee

(D) Wheat and Maize

122, Which one of the followings is an ecofriendly
practice?
(A) Not using a cloth bag
(B) Using sound crackers
(C) Unnecessarily switching on lights and fans
(D) Going to school on foot or bicycling instead of
using a private motor car

1”123, Which one of the followings is associated with

‘Blackfoot disease’?
(A) Mercury

(C) Cadmium

(B) Arsenic
(D) Selenium and Iron

.~ 124. The characteristics of environmental education were
enlisted for the first time in—
(A) 1976, Thilisi conference
(B) 1977, Thilisi conference
(C) 1977, Belgrade international workshop
(D) 1972, United Nations Conference on the Human
Environment, Stockholm

125. In which stage of environmental study based active
research, is hypothesis formulated?

(A) In problem identification stage

(B) After the analysis of the probable causes

(C) In research methodology stage

(D) In assessment stage

# 126. River Damodar flows through which of the
~ following districts of West Bengal?
(A) Hooghly, Jhargram, Birbhum, Howrah, Purulia
(B) Purba Medinipur, Murshidabad, Purba
Bardhaman, Coochbehar, Hooghly
(C) Coochbehar, Howrah, Kalimpong, Paschim
Bardhaman, Purulia
(D) Purulia, Paschim Bardhaman, Purba Bardhaman,
Hooghly, Howrah

~, 127. Which one of the following gases is a natural
' greenhouse gas?
(A) Oxygen
(B) Carbon monoxide
(C) Nitrous oxide
(D) Nitrogen

Bengali Version

121. Fefefeckm @mafE Som w=eime
(A) 476 «f5
(B) =i @ forp
(C) e I
(D) *1 @ 95!

122, fefafeelm @b ofrettw g
(A) Feitea e FIZF A F41
(B) *FmifE gaza 41
(C) SeiTare i St @ o/t Sifeca 2t
st @ioa 5iif% TR 7 I A &6 A AT
T vife R atem

123. FffRealm mb ‘Tiegs Gim-az A F=ifFs?
(A) R By i
(C) el (D) GIEAAT G ST

124, ifir fretn EFRef elw oifige —
(A) 1976, B3ff wrw=E
(B) 1977, o3f&f srwem
(C) 1977, ([ET2T SHGE(ox el
(D) 1972, REARBT A Ioas o+ ReMH
GTSIRFACTD, TR

125. sifareifam e i siraaeia qrt @ QR e
f$e zme -

,(Aﬁrwﬁtﬁaqm

(B) 7y IR Regsem oim

(C) SRR %S B

(D) FUTES w¥e

126. 67T AT @ @I @R TG T WTIHE T
erifEe R ? ‘
A i, e, g, Qe R
(B) ¥ cxfieftega, SR, o e, eI, i
(C) R, QG ek, siffom 3, zefemmt
(D) =izl #fow I, o7 3w, wsifH, Qe

127, Ffifie ieRm T G s aef el Braiet
s ?
(A) wf3Ew
(B) T SCAHIES
(C) =iZGH™ w=ize
(D) ARGTEA
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v 128. The Chipko movement is associated with—
(A) labour movement in India
(B) trees and forest protecting movement in India
(C) mineral resource conservation movement in India
(D) peasant movement in India

129. Which one of the followings is the correct sequence
of energy flow?
(A) Solar energy—>Primary producer—>Carnivores
—>Dec0mposer
(B) Solar energy—>Primary producer-—)Camwores
—Herbivores
(C) Solar energy—rHerbivores—>Primary producer
—rDecomposer
(D) Solar energy—>Primary producer—>Herbivores
—>Carnivores

\_~130. Which one of the following fertilizers contain
nitrogen fixing cyanobacteria (Anabaena)?
(A) Azolla biofertilizer '
(B) Dung manure
(C) DAP (Di-ammonium Phosphate) fertilizer
(D) NPK (Nitrdgen Phosphorus-Potassium) fertilizer

/131 Which one of the following 0bjects are
non-biodegradable wastes?
(A) Vegetable peels, Leaves, Petals
(B) Animal debris, Branches of trees, Rotten fruits
(C) Plastic bottles, Computer parts, Batteries
(D) Paper waste, Food waste, Compost ‘

v 132. Which of the following pair is not correct?
/’3 (A) Architect — Sun Temple of Konark
(B) Architect — Rashmancha of Bishnupur
(C) Architect — Temples of Khajuraho
(D) Architect — Ajanta Cave '

% 133. Which one of the following International Treaties
had been designed in 1987 to protect the Ozone layer?
(A) Kyoto Protocol
(B) Copenhagen Accord
(C) Paris Accord
(D) Montreal Protocol

\_~"134. Which of the following animal is the state animal of
West Bengal?
(A) Fishing Cat
(B) Squirrel
(C) Royal Bengal Tiger
(D) Ganges River Dolphin

Bengali Version

128. fBoiTat ST TA AH AAFTE—
(A) ©TETTH =fi ST
SrATed TF @ @Y 1618 STHI=
(C) rTed 2T 727 FATw SCHET
(D) SRTed F7F ST

129. Faffocka @ «feeanzs 7T T?
(A) Gefe—>aiefE BeAme—aEm—REEs

(B) FTmife—af BeAms SN gIrSTat
(@ T gei-afic Besre—Rures
(D) GleifE—> 2l SeAmE— GITSIa MG

130. FRfie wmefm Y @b TG T
AT R (SR fom e

(A) SiCETe CErld

(B) (oI A

(C) DAP (SiR-Spitifas T5w6) 71

(D) NPK (Ri3Gs-woeai-+5ikmm) A

131. FefrReehm @m om sl Sd-ofRme e
(A) ST I, ey, el
(B) 2T (R, 52 ©iA, A6t 72
Af5S @Iee, IF#IOoIER Taiet, IR
(D) FlsierEts &7, AMTErs I&, ICHG

132. Aoa &I cotelt Afds w2
(A) FIe] — R T e
By o) — R e
(C) Fiohe] — JEAE-49F a1+
(D) E*le] — Sergl Wyl

133, Ffafis uewiee fechkm @b 1987 wa e
w2 T A9 oy A ke

(A) FmG! e

(B) (RN SIFE

(C) = =g

(D) G calibea

134, e W @i Afwacem areg erre
(A) rcarE (iR wmi5)
(B) Whofgifei
(C) T @ GiRaia
(D) AR wuF
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' 135. Which one of the following animal species is not an
| example of endemic species?

(A) Asiatic Lion, Gujrat

(B) Lion-tailed Macaque, Western Ghats

(C) Muga Silkworm, Assam

(D) Leopard, Maharashtra-

136. The main disadvantage of observation based study
in Environmental Studies is—
(A) It creates a bondmg between the teacher and the
learner
(B) Ithelps to increase the observational ability of the
students
(C). It is not possible to teach all the chapters of the
subject
(D) Students get the scope for thinking independcntly

v 137. Which of the following tropical cyclone was a Super
Cyclone?
(A) Yaas, May 26, 2021
(B) Tauktae, May 16-18, 2021
(C) Amphan, May 18-19, 2020
(D) Nisarga, June 3, 2020

v, 138. Which of the following is a bioindicator of air
pollution?
* (A) Water hyacinth
(B) Parthenium weed
(C) Karabi flower Plant (Oleander or Nerium Plant)
(D) Lichen

“n 139. There are 38 different groups of students in a class.
Each group consists of an equal number of students.
Six groups are asked to carry out projects on biomass
energy, nine groups are asked to carry out projects on
geothermal energy and four groups are asked to carry

out projects on wind energy. Rest of the students are asked .

" to carry out projects on fossil fuel. While asked to express
the distribution of groups of students working on
renewable energy through a pie-chart, the correct way of
their representation will be —

ORRDED

(A) (B) © (D)
R = Renewable energy
O = Others

Bengali Version

135, Fefaleetn @b aehie dwifes et Szt w2
(A) affmfos ficz, ewalb
(B) =ma-(b%eTe Wi, wAfoeaio
(C) st @I, ST
(D) fooram, sarg

136. Affrifamt #itts oifawe smien eum wefaun el
‘ﬁ_
(A) <& ~mfofs frmss Fradive wug sicast tofd e
(B) @2 Amfels Frmdivm 2w =wel 9fa w
(C) @& smfefbre A 7 waretm frmd e 7
(D) & el Rl Fidmeia Burerer s +m

137. fsfeie ot Sramedn AR J7m AR e ?
(A) T, (7 26, 2021
(B) ©Ii%rs, (7 16-18, 2021
@54, G 18-19, 2020
(D) f&msf, g 3, 2020

138. oA @M e oo e ?
(A) FRRiE
(B) =i wsigy
Loy 99 3 i
(D) =g

139. @3 cfowrs Prmdite 386 fon wa otz efels 7@
i Ay R o ofde | wafb et it wits B
ST FIG FACS T@ AR, T Wl gl
mmwwmwmﬁw@_ﬂ?ﬁ%m
mmwwmmﬁsﬁmmw

eIFTE G FACT I TR AT e W wES
i weeRTE A3-Hram Tum e [Rere dem Fs

1 7= oiewa AeE el e —
ORGEDED
s

A) (B) ©) (D)
R = sfefareaeatay e j
O =Sy :
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% 140. Which one of the following is not a part of
photochemical smog?

(A) Ca (B) PAN
© O, (D) NO;,
.~141. International Environmental Education
Programme (IEEP) has been launched by—
(A) UNO (B) UNESCO
(C) UNICEF (D) ULO

‘" 142. Which of the following is not a source of lead?
(A) Paint
(B) Distilled water
(C) Cosmetics
(D) Children’s toys

%, 143. In EVS class, a teacher takes the learners to the zoo
to introduce them to caged wild anjmals. This activity
comes under the purview of—
(A) Assignment
(B) Experiment
(C) Project work
(D) Field visit

*/  144. The vector that acts as the carrier as well as host of
' causative organisms of diseases belongs to which of the
following animal category?
(A) Birds
(C) Arthropods

(B) Reptiles
(D) Molluscs

/. 145. Which of the following statement is correct
regarding the curriculum of EVS at primary level?

(A) Inthe primary classes, topics of physical and social
environment should not be included.

(B) Experiment based teaching in class should not be
included.

(C) Children should not be involved in such activities
which increase their creative and cognitive
capacities.

(D) At the primary level, EVS should include the
topics of gender and gender-sensitivity.

Bengali Version

140, frafrfieefim @@l wiwas sEmfe o
(photochemical smog) ST =T ¢

(A) Ca (B) PAN

(€) Oy (D) NO,
141. TORAMHAT SSRGS e @ i (IEEP) 5t
IER— -

(A) UNO UNESCO

(C) UNICEF )(ﬁ;/m,o

142. Wted @D Ao oo Se w2
(A) =
#ifes T
(C) @mgat A=
(D) Pt e

143. EVS ifdwrs, qeem frrs/ et oo disrft
TN (FAITe B st Few et «f @ s
e Tt ata Rrafew z@e

(A) arferm 3%+ (Assignment)

(B) #=r (Experiment)

(C) =t e (Project work)

(D) cwa »ifiw=f (Field visit)

144. .59, T @ITR FfFES Gieg ATS ¢ s e
Wm,srﬁﬂmﬂﬁ@rcﬂam%wq’@?

LAY o (B) Fam

(C) s ' (D) ==

145, eliefie wea EVS #tojes srifde fRafafis Rfeafam
WY @G AT ? '
(A) @l @fTe (s ¢ FiEs sAfitaes e sege
w3t Bfoe T
(B) =fwrs sfrwifsfes Rrsmm sat Sfvs
(C) FreTm @ P SUEE 31 Tiow 71 3 Sid

G G werR 3G o
i weE, EVS Frem e w3 Ge-sgamiered
arfs wwge w1 Bfhe
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) 146. Alist of rivers are given below. Which rivers among

them play an important role in the formation of soil of

the Terai region of West Bengal?

Damodar, Matla, Teesta, Ichamati, Mahananda,
Subarnarekha, Ajay, Raimangal

(A) Matla, Subarnarekha

(B) Damodar, Ichamati

(C) Teesta, Mahananda

(D) Ajay, Raimangal

~ 147. The three R’s to save the environment are—
(A) Reserve, Reduce, Recycle

(B) Reuse, Reserve, Reduce

(C) Reduce, Recycle, Reuse

(D) Reserve, Reuse, Reduce

N 148. ‘Kuno National Park’ has become famous recently
because of— )
(A) reintroduction of the ‘Dodo bird’ from Europe
(B) reintroduction of the ‘Cheeta’ from Central Asia
(C) reintroduction of the ‘Cheeta’ from Africa
(D) reintroduction of the ‘Lion’ from Africa

-+ 149. What should be the minimum thickness of plastic
~ carry-bags since 1st January, 2023 as per Plastic Waste
Management (Amendment) Rules, 2021?
(A) 75 microns (micrometers, pm)
(B) 120 microns (micrometers, pm)
(C) 50 microns (micrometers, pm)
(D) 20 microns (micrometers, pm)

b 150. The process by which earthworm decomposes
biodegradable solid waste is called—
(A) Composting
(B) Landfilling
(C) Shredding
(D) Vérmi—composting

Bengali Version

146, s Fepaf TR AW (rewt 25 | GTRE T (I Tef
oifRETRTE SR wegEE i 40T ewgeld Ghr oiem TR ?

witvE, wee, {1, T@wet, g, A, o,
AT

(A) Troel, At

3, 3RS
(C) foat, wrarert
(D) <&, qE=AA

147. ca foaf ‘R’ Afte e 79 o0, ©f TT—
(A) @ (Reserve), 37 (Reduce), »F6&He (Recycle)
(B) #7027 (Reuse), % (Reserve), 31 (Reduce)
(C) 3 (Reduce), S6@iF (Recycle), %a21a (Reuse)
W:W'(Resprve), 21?{”4]?13\1?1 (Reuse), 7 (Reduce)

148, (3 SR T Tt wrora S w2 Rure arae—
(A) 2T (A ‘(OIe! A7 AR ISR G
(B) W affl (A foor-a seamema T
i (At Ber-3 oJReeEETa o
(D) wifF (AT F1Re’-aq SJse T &

149, 2iif6% I IERIom (FACrenya) Frw, 2021 wEpiTa
2023 wite 1t Qs 2w 2%s ifd s wdfm @y
T PACO RE?
+ (A) 75 W (IRGFIHEE, pm)
(B) 120 Wig@= (IMZGIGE, um)
50 TR (ARLIRGE, um)
(D) 20 WiEe= (MRTFIHRGE, pm)

150. @@ elfFum ot Sraig-Rrarey =fom 7w W oiow
W St 9e 27—
(A) FTAI52
Threabwad A Fprefay
%/Wq
(D) S-rr=Aif5s

[35]



ROUGH WORK

[36]
PESHA.IN



WEST BENGAL BOARD OF PRIMARY EDUCATION

ANNEXURE- |
TEACHER ELIGIBILITY TEST- 2022 (TET-2022), (For Classes |-V, Primary) held on 11th of December, 2022
QUESTION BOOKLET CODE: WEBPE2B
FINAL ANSWER KEY
mm., o | LANGUAGE! | LANGUAGE! | LANGUAGEI | LANGUAGEI | LANGUAGEI | LANGUAGE! | LANGUAGEI | LANGUAGEN | wurcvarics |ENVIRONMENTAL
iy (BENGALI) (HINDI) (ORIYA) (TELUGU) (NEPALI) (URDU) (SANTHALI) (ENGLISH) STUDIES
(Part-A) (Part-B) {Part-B) (Part-B) (Part-B) (Part-B) (Part-B) (Part-B) (Part-C) (Part-D) (Part -E)
1.D 31.C 31.C 31.D 31.C 31.C 3.B 31.A 61.D 91.D 121.B
2.0 32.D 32.C 3.0 32.D 32.C 32.C 32.C 62.C 92. A 122.D
3.C 33.C 33.0 33.0 33.C 33.B 33.B 33.C 63.B 93.D 123.B
4.0 34.C 34.C 34.B 34.C 34.D 34.D 34.A 64.B 94.C 124.B
5.D 35. A 35.8 35.B 3.8 35.C 35.D 35.D 65. A 95.D 125.B
6.8 36.B 36.C 36.B 36.B 36. A 36.D 36.D 66.C 9.8 126.D
7.0 3n.c 37.C 1A LA 31.B 3.8 31.D 67.C 97.A* 121.C
8.D 38.B 38.C 38.C 38.A 38.0 36.A 38.C 68.D 98.B* 128.B
9,C 39.B 39.C 39.B 39.A 39.A 39.0 39.B 69. A X 129.D
10.C 40.A 40.B 40.C 40.A 40.C 40.C 40.B 70.D 100.C 130. A
1. A 41.C 41.8 41.A 41.C 4.0 41.B 4.0 T1.A 101.C 131.C
12.C 42.D 42.B 42.C 42.D 42.A 42.A 42.D 72.B 102. A 132.0*
13.C 43.0 43.A 4.C 43.D 43.D 43.C 43.D 73.C 103.A 133.0
14.A 44.B 4.0 44.B 4.8 4.8 44,0 4.8 T4.A 104.B 134.A
15.B 45.C 45.0 45.B 45.C 45.A 45.B 45.C 75.C 105.C 135.0
16.C 46. A 46.B 46.8B 46.B 46.D 46.B 46.C 76.D 106.C 136.C
17.C 41.D 47.D 41.C 47.B 47.B 41.8 41.0 71.BIC 107.D 137.C
18.B 48. A 48.D 48.C 48.D 4.8 48.A 48.D 78.C 108.D 138.D
19.D 49.D 49.D 4.C 49. A 49.B 49.C 49.C 79.C 109.C 139.B
20.A 50.C 50.B 50. A 50. A 50. A 50.C 50.D 80. A 110.B 140, A
21.0 51, A 51.0 51.B 51.B 51, A 51.C 51.D 81.C 111. A 141.B
22.C 52.C 52.0 52. A 52. A 52.0 52.B 52.C 82.B 112. A 142.B
23.0 53.A1C 53.0 53.C 53.C 53.A 53.B 53.B 831.B 113.C 143.D
24.C 54.D 54,0 54, A 54.B 54.D 54, A 54.B 84.B 114.D 144.C
25. A 55.C 55.D 55.C 55.C 55.D 55.B 55.C 85.B 115.D 145.0
26.C 56.C 56.C 56. A 56. A 56.C 56. A 56.C 86.D 116.D 146.C
21.D 51.D 51.C 51.B 51.B 57.0 57.C 51.D 87.C 11.¢ 141.C
28.C 58.D 58.C 56.C 58.D 58.B 50. A 58.C 88. B 118.D 148.C
29.C 59.A/D 59, A 59.B 59.D 59.B 59.B 59.B 89.B/C 119. A' 149.8B
30. A 60.D 60.A 60.8 60.D 60.B 60.B 0.8 90.C 120.C 150.D
{ /“'—’V'IK\,L ('Z(_’MW

(Or. Partha Karmakar, WBES) 5,/ +~>
Deputy Secretary ¢



